181 Post Acute Medical Specialty Hospital of Milwaukee

5017 South 110th Street

Greenfield, WI 53228

Overall Hospital Utilization

414-427-8282

Hospital Type: LTAC

Discharge Status

Hospice

Expired

Other

Race

Asian

White

Multiracial

Unavailable

Declined

Other Institution

Home Health Service

Left Against Medical Advice

Amer.Ind/Alaskan Native

Black/African Amer.

Native Hawaii/Pac.Isl.

Discharge/Tran to Court/Law Enforcmnt

Home or Self-Care

Other GMS Hospital

Skilled Nursing Facility

Intermediate Care Facility

Critical Access Hospital (CAH)

Inpatient Rehabilitation Facility

County: Milwaukee

Analysis Area: 2B-Milwaukee County

Patient Discharge Status

Race Distribution

% Discharges

1.0%

1.6%

30.2%

66.6%

0.0%

0.6%

0.0%

0.0%

% Discharges

28.4%

12.3%

0.0%

42.1%

0.0%

0.2%

0.2%

0.0%

2.0%

4.6%

3.0%

0.4%

6.8%

1.2%

1.3%

37.5%

0.0%

59.3%

0.0%

0.7%

0.0%

% Patient Days

Total Discharges		497	-	ength of Stay (days):	¢.4.	21.8
Total Patient Day	S. 1	0,849	Average Cr	harge per Discharge:	\$1	74,688
Psychiatric Utiliz	<u>zation</u>					
Discharges:		0	Percent of A	All Discharges:		0.0%
Patient Days:		0	Percent of A	All Patient Days:		0.0%
AODA Utilization	<u>1</u>					
Discharges:		0	Percent of A	All Discharges:		0.0%
Patient Days:		0	Percent of A	All Patient Days:		0.0%
	Age Distribution			<u>S</u>	Sex Distribution	
Age Group	% Discharges	<u>% Pat</u>	<u>ient Days</u>	<u>Sex</u>	% Discharges	% Patient Days
Under 15	0.0%		0.0%	Male	55.1%	59.2%
15 - 19	0.4%		0.6%	Female	44.9%	40.8%
20 - 24	0.4%		0.3%	F	D	
25 - 34	6.8%		8.4%	Expected	Pay Source Dist	ribution
35 - 44	6.2%		9.5%	Primary Payer		% Discharges
45 - 54	13.3%		19.9%	Medicare		53.9%
55 - 64	27.8%		27.4%	Medicaid/BadgerC	are	33.0%
65 - 74	20.5%		20.3%	Other Governmen	t	0.2%
75 - 84	11.9%		9.1%	Commercial or Priv	vate Insurance	2.0%
85 & Over	12.7%		4.5%	Self-Pay		0.0%
				Other or Unknown	Insurance	10.9%

APR-DRG Specific Data

		A	tay	Average Charge per Discharge			
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin LTAC	Ratio	This Facility	All Wisconsin LTAC	Ratio
130 Respiratory System DX w/ Vent Support 96+ Hrs	23	33.8	41.4	0.82	\$368,676	\$223,742	1.65
133 Respiratory failure	80	20.8	25.1	0.83	\$165,354	\$133,096	1.24
193 Acute & Subacute Endocarditis	27	24.7	24.6	1.00	\$179,765	\$132,362	1.36
344 Osteomyelitis and Infectious Arthritis	38	25.7	31.9	0.81	\$136,804	\$135,089	1.01
349 Complications Of Orthopedic Device Or Procedure	13	23.8	26.8	0.89	\$187,862	\$142,531	1.32
380 Skin Ulcers	21	22.6	31.7	0.71	\$165,185	\$155,597	1.06
383 Cellulitis & other skin infections	17	13.8	22.8	0.61	\$102,068	\$96,425	1.06
469 Acute Kidney Injury	7	28.9	30.8	0.94	\$235,672	\$162,068	1.45
720 Blood Infection/Septicemia	18	44.8	38.1	1.18	\$199,299	\$166,549	1.20
721 Postoperative and Post-Traumatic Infections	15	29.1	32.0	0.91	\$144,432	\$133,290	1.08
813 Complications Of Treatment	*	*	29.2	*	*	\$177,414	*
862 Other Factors Influencing Health Status	38	10.7	23.0	0.47	\$74,948	\$91,730	0.82
951 Moderately Extensive Procedure Unrelated to Diagnosis	9	25.9	51.4	0.50	\$218,104	\$315,974	0.69

N/A - Zero Discharges reported

* 1 through 4 Discharges reported

310 Select Specialty	y Hospital - Mad	ison								
801 Braxton Pl							Hosp	oital Type: LTAC		
Madison, WI 53715								County: Dane		
608-260-2701							Anal	ysis Area: 1-Sou	uthern	
Overall Hospital Uti	lization							Patient Discha	arge Status	
Total Discharges:		387		ength of Stay (days):		33.0	Discharge S			% Discharges
Total Patient Days:	12	2,759	Average C	harge per Discharge:	\$1	152,718	Home or Se			12.4%
Psychiatric Utilizati	on						Other GMS			15.5%
Discharges:		0	Porcont of	All Discharges:		0.0%	Skilled Nurs	ess Hospital (CAH))	0.0% 24.5%
Patient Days:		0		All Patient Days:		0.0%		e Care Facility		24.5% 0.3%
Fallent Days.		0	Feicenii Ui	All Fallent Days.		0.0%		habilitation Facility	/	0.3%
AODA Utilization							Hospice	indointation r dointy	·	4.4%
Discharges:		0	Percent of	All Discharges:		0.0%	Other Institu	Ition		0.0%
Patient Days:		0		All Patient Days:		0.0%	Home Healt	h Service		16.0%
Δα	ge Distribution			S	ex Distribution		Left Against	Medical Advice		2.8%
_	_	0/ Dot	tiont Dava				Expired			10.1%
<u>Age Group</u> Under 15	<u>% Discharges</u> 0.0%	<u>% Pai</u>	<u>tient Days</u> 0.0%	<u>Sex</u> Male	<u>% Discharges</u> 57.4%	<u>% Patient Days</u> 60.5%	Discharge/T	ran to Court/Law E	Enforcmnt	1.6%
15 - 19	0.5%		0.0%	Female	42.6%	39.5%		Race Dist		5.7%
20 - 24	2.3%		2.9%					Race DISI	Indution	
25 - 34	8.3%		6.8%	Expected I	Pay Source Dis	tribution	Race	<u>% Dis</u>	<u>scharges</u> <u></u>	6 Patient Days
35 - 44	5.2%		4.5%	Primary Payer		% Discharges	Amer.Ind/Al	askan Native	0.0%	0.0%
45 - 54	11.4%		10.9%	Medicare		46.8%	Asian		0.0%	0.0%
55 - 64	29.5%		31.1%	Medicaid/BadgerCa	are	17.1%	Black/Africa	n Amer.	1.8%	3.0%
65 - 74	24.5%		24.2%	Other Government		0.8%		aii/Pac.Isl.	0.0%	0.0%
75 - 84	15.2%		14.6%	Commercial or Priv	ate Insurance	29.7%			91.0%	91.4%
85 & Over	3.1%		4.8%	Self-Pay		0.0%			0.0%	0.0%
				Other or Unknown	Insurance	5.7%			6.5%	5.3%
				APR-	DRG Specific I	Data	Unavailable		0.8%	0.3%
						Average Length of	Stay	Average 0	Charge per D	Discharge
				Number of	This	All Wisconsin		This	All Wisco	
APR-DRG # and Desc	ription			Discharges	Facility	LTAC	Ratio	Facility	LTAC	
130 Respiratory Syst	tem DX w/ Vent Su	port	96+ Hrs	91	43.7	41.4	1.06	\$207,401	\$223,7	42 0.93
133 Respiratory failur	re			73	26.3	25.1	1.05	\$114,994	\$133,0	96 0.86
193 Acute & Subacut	te Endocarditis			15	25.4	24.6	1.03	\$80,871	\$132,3	62 0.61
344 Osteomyelitis an	d Infectious Arthrit	tis		48	35.9	31.9	1.13	\$148,215	\$135,0	89 1.10
349 Complications O	of Orthopedic Devic	ce Or I	Procedure	5	35.4	26.8	1.32	\$125,172	\$142,5	31 0.88
380 Skin Ulcers				10	30.6	31.7	0.97	\$136,894	\$155,5	97 0.88
					1				-	

22.8

30.8

38.1

32.0

29.2

23.0

51.4

0.82

0.97

1.00

1.66

1.57

N/A

*

\$67,334

\$113,297

\$119,560

\$99,994

\$117,076

*

*

18.8

30.0

32.0

48.6

36.1

N/A

*

0.70

0.70

0.90

0.56

1.28

N/A

*

\$96,425

\$162,068

\$166,549

\$133,290

\$177,414

\$91,730

\$315,974

N/A - Zero Discharges reported

469 Acute Kidney Injury

383 Cellulitis & other skin infections

721 Postoperative and Post-Traumatic Infections

951 Moderately Extensive Procedure Unrelated to Diagnosis

862 Other Factors Influencing Health Status

720 Blood Infection/Septicemia

813 Complications Of Treatment

0
* 1 through 4 Discharges reported

8

7

*

15

5

14

300 Select Specialty Hospital - Milwaukee - St. Francis

3237 South 16th Street, 5th Floor

Milwaukee, WI 53215

414-647-3995

<u> </u>						
Overall Hospital	<u>Utilization</u>					
Total Discharges:		211	Average I	Length of Stay (days):		34.6
Total Patient Days	S:	7,299	Average (Charge per Discharge	: \$18	31,416
Psychiatric Utiliz	ation					
Discharges:		0	Percent o	f All Discharges:		0.0%
Patient Days:		0		of All Patient Days:		0.0%
AODA Utilization						
Discharges:	•	0	Percent o	f All Discharges:		0.0%
Patient Days:		0		of All Patient Days:		0.0%
	Are Distribution	•		-	Case Diatribution	0.070
	Age Distribution				Sex Distribution	
Age Group	% Discharges	<u>% Pat</u>	ient Days	<u>Sex</u>	% Discharges	<u>% Patient Days</u>
Under 15	0.0%		0.0%	Male	53.6%	54.3%
15 - 19	0.0%		0.0%	Female	46.4%	45.7%
20 - 24	0.5%		0.6%	Even a star	Dev Course Diet	
25 - 34	3.3%		3.6%	Expected	Pay Source Dist	ribution
35 - 44	7.6%		6.9%	Primary Payer		% Discharges
45 - 54	12.3%		15.0%	Medicare		63.0%
55 - 64	21.3%		20.0%	Medicaid/Badger	Care	11.8%
65 - 74	29.9%		33.8%	Other Governme		0.9%
75 - 84	20.9%		16.5%	Commercial or P	rivate Insurance	21.3%
85 & Over	4.3%		3.6%	Self-Pay		0.0%
				Other or Unknow	n Insurance	2.8%

Patient Discharge Status Discharge Status % Discharges Home or Self-Care 12.8% Other GMS Hospital 10.0% Critical Access Hospital (CAH) 0.0% Skilled Nursing Facility 44.1% Intermediate Care Facility 0.0% Inpatient Rehabilitation Facility 9.0% Hospice 0.0% Other Institution 0.0%

10.4%

1.4%

9.0%

0.0%

Hospital Type: LTAC

Home Health Service

Expired

Left Against Medical Advice

Discharge/Tran to Court/Law Enforcmnt

County: Milwaukee

Analysis Area: 2B-Milwaukee County

Other		3.3%
Race	<u> Distribution</u>	
Race	% Discharges	% Patient Days
Amer.Ind/Alaskan Native	e 0.5%	0.6%
Asian	0.5%	0.2%
Black/African Amer.	24.2%	29.6%
Native Hawaii/Pac.Isl.	0.0%	0.0%
White	70.6%	66.1%
Multiracial	0.0%	0.0%
Declined	4.3%	3.5%
Unavailable	0.0%	0.0%

Average Length of Stay Average Charge per Discharge All Wisconsin Number of This This All Wisconsin Ratio Ratio APR-DRG # and Description Discharges Facility LTAC Facility LTAC 130 Respiratory System DX w/ Vent Support 96+ Hrs 57 50.7 41.4 1.22 \$194,016 \$223.742 0.87 133 Respiratory failure 25.1 43 21.0 0.84 \$113,127 \$133,096 0.85 * * * 193 Acute & Subacute Endocarditis 24.6 \$132,362 344 Osteomyelitis and Infectious Arthritis 32.4 31.9 1.02 \$135.089 0.85 11 \$114.715 349 Complications Of Orthopedic Device Or Procedure * * 26.8 * \$142.531 * 380 Skin Ulcers 6 24.5 31.7 0.77 \$91,346 \$155,597 0.59 * * 383 Cellulitis & other skin infections 22.8 * \$96,425 469 Acute Kidney Injury 11 28.2 30.8 0.92 \$135.155 \$162.068 0.83 720 Blood Infection/Septicemia * 38.1 * \$166.549 * * * 721 Postoperative and Post-Traumatic Infections * 32.0 * \$133,290 813 Complications Of Treatment 5 28.4 29.2 0.97 \$177,414 0.63 \$112,273 6 862 Other Factors Influencing Health Status 45.0 23.0 \$155.484 \$91.730 1.70 1.96 7 951 Moderately Extensive Procedure Unrelated to Diagnosis 61.0 51.4 1.19 \$395,436 \$315,974 1.25

APR-DRG Specific Data

N/A - Zero Discharges reported

* 1 through 4 Discharges reported

307 LIFECARE Hos 2400 Golf Road	spitals of Milwa	ukee					Lloon	ital Turnay 1 TAG	2		
							Hosp	vital Type: LTAC			
Pewaukee, WI 5307	2							County: Wau			
262-524-2600							Analy	sis Area: 2A-8	Southeaste	ern	
Overall Hospital Ut	<u>ilization</u>							Patient Disch	narge Stat	<u>us</u>	
Total Discharges:		397		ength of Stay (days):		26.5	Discharge St			<u>% Di</u>	scharges
Total Patient Days:		10,528	Average C	harge per Discharge:	\$1	55,922	Home or Sel				8.1%
Psychiatric Utilizat	ion						Other GMS I		I)		20.7%
Discharges:		0	Porcont of	All Discharges:		0.0%	Skilled Nursi	ss Hospital (CAF	1)		0.0%
Patient Days:		0		All Patient Days:		0.0%		Care Facility			38.0% 0.0%
r allent Days.		0	I creent of	Air ation Days.		0.070		habilitation Facili	tv		5.0%
AODA Utilization							Hospice		- 3		5.0%
Discharges:		0	Percent of	All Discharges:		0.0%	Other Institut	tion			0.0%
Patient Days:		0	Percent of	All Patient Days:		0.0%	Home Health	n Service			13.1%
А	ge Distribution			Se	ex Distribution		Left Against	Medical Advice			1.0%
Age Group	% Discharges		tient Days	Sex	% Discharges	% Patient Days	Expired				8.1%
Under 15	0.0%	<u>/01 a</u>	0.0%	Male	54.7%	<u>56.4%</u>		ran to Court/Law	Enforcmnt		0.0%
15 - 19	1.0%		0.5%	Female	45.3%	43.6%	Other	Race Dis	stribution		1.0%
20 - 24	0.5%		0.2%	E							
25 - 34	8.6%		8.3%	Expected F	Pay Source Dist	ribution	<u>Race</u>	<u>% D</u>	<u>ischarges</u>	<u>% Pati</u>	ent Days
35 - 44	8.1%		7.1%	Primary Payer		% Discharges	Amer.Ind/Ala	askan Native	0.3%		0.3%
45 - 54	14.9%		16.7%	Medicare		58.7%	Asian		1.3%		1.4%
55 - 64	23.2%		24.9%	Medicaid/BadgerCa	are	17.1%	Black/Africar		15.6%		17.5%
65 - 74	26.2%		25.4%	Other Government		0.8%	Native Hawa	iii/Pac.Isl.	0.0%		0.0%
75 - 84	14.9%		14.3%	Commercial or Priva	ate Insurance	19.4%			79.1%		77.0%
85 & Over	2.8%		2.8%	Self-Pay Other or Unknown I	neuranco	0.0%	Multiracial Declined		0.0% 0.0%		0.0% 0.0%
					insulance	4.0%	Unavailable		3.8%		3.7%
				APR-	DRG Specific D	ata	Unavailable		0.070		0.770
						verage Length of Sta	ay	Average	Charge pe	r Discha	arge
				Number of	This	All Wisconsin	-	This		consin	-
APR-DRG # and Deso	cription			Discharges	Facility	LTAC	Ratio	Facility	LT	AC	Ratio
130 Respiratory Sys	stem DX w/ Vent S	Support	96+ Hrs	118	31.0	41.4	0.75	\$212,565	5 \$223	3,742	0.95
133 Respiratory failu				64	21.9	25.1	0.87	\$120,262	2 \$133	3,096	0.90
193 Acute & Subacu	ute Endocarditis			17	24.2	24.6	0.98	\$108,854	\$132	2,362	0.82
344 Osteomyelitis ar	nd Infectious Arth	ritis		43	23.4	31.9	0.73	\$112,822	2 \$13	5,089	0.84
349 Complications C	Of Orthopedic Dev	/ice Or I	Procedure	13	28.1	26.8	1.05	\$132,669	\$142	2,531	0.93
					1						

25.4

28.3

N/A

25.5

27.4

18.3

*

*

31.7

22.8

30.8

38.1

32.0

29.2

23.0

51.4

0.80

0.92

N/A

0.80

0.94

0.80

*

*

\$121,995

\$150,320

\$131,562

\$286,584

\$73,974

*

*

*

\$155,597

\$162,068

\$166,549

\$133,290

\$177,414

\$91,730

\$315,974

\$96,425

0.78

0.93

N/A

0.99

1.62

0.81

*

*

469 Acute Kidney Injury

380 Skin Ulcers

383 Cellulitis & other skin infections

721 Postoperative and Post-Traumatic Infections

951 Moderately Extensive Procedure Unrelated to Diagnosis

862 Other Factors Influencing Health Status

720 Blood Infection/Septicemia

813 Complications Of Treatment

*
* 1 through 4 Discharges reported

5

*

8

0

19

11

8

184 Lakeview Spe	cialty Hospital & Rel	nab								
1701 Sharp Road						Hosp	oital Type: LTAC			
Waterford, WI 531	85						County: Racine	;		
262-534-7297						Analy	ysis Area: 2A-So	utheaste	ərn	
Overall Hospital U	tilization						Patient Discha	rge Stat	us	
Total Discharges:	21	8 Average L	ength of Stay (days):		48.7	Discharge S	<u>tatus</u>		<u>% Dis</u>	charges
Total Patient Days:	10,61	4 Average C	Charge per Discharge:	\$23	39,070	Home or Sel				32.1%
Psychiatric Utiliza	tion					Other GMS	Hospital ess Hospital (CAH)			21.6%
Discharges:		0 Percent of	All Discharges:		0.0%	Skilled Nursi				0.0% 30.7%
Patient Days:			All Patient Days:		0.0%		e Care Facility			0.9%
2			7 m T dione Dayo.		0.070		habilitation Facility			2.8%
AODA Utilization						Hospice				0.5%
Discharges:		0 Percent of	All Discharges:		0.0%	Other Institu	tion			0.5%
Patient Days:		0 Percent of	All Patient Days:		0.0%	Home Healt				0.0%
	Age Distribution		Se	ex Distribution		Left Against	Medical Advice			1.4%
Age Group		Patient Days	Sex	% Discharges	% Patient Days	Expired				9.2%
Under 15	0.0%	0.0%	Male	61.9%	<u>56.5%</u>		ran to Court/Law E	nforcmnt		0.5%
15 - 19	2.3%	2.5%	Female	38.1%	43.5%	Other	Race Distr	ibution		0.0%
20 - 24	4.1%	6.4%								
25 - 34	5.5%	6.2%	Expected H	Pay Source Dist	ribution	Race	<u>% Disc</u>	<u>charges</u>	<u>% Patie</u>	ent Days
35 - 44	10.1%	8.8%	Primary Payer		% Discharges		askan Native	1.4%		1.9%
45 - 54	15.1%	17.0%	Medicare		47.7%	Asian		0.9%		2.0%
55 - 64	32.1%	33.4%	Medicaid/BadgerCa	are	35.3%	Black/Africa		11.9%		8.9%
65 - 74	16.1%	18.3%	Other Government		0.0%	Native Hawa	aii/Pac.Isl.	0.9%		0.2%
75 - 84	13.3%	6.9%	Commercial or Priv	ate insurance	15.6%	White		84.4%		82.9%
85 & Over	1.4%	0.4%	Self-Pay Other or Unknown I	Incuranco	0.0%	Multiracial Declined		0.0% 0.0%		0.0% 0.0%
				insulance	1.4%	Unavailable		0.0%		0.0 <i>%</i> 4.2%
			APR-	DRG Specific D	ata	Onavailable		0.570		7.270
					verage Length of St	ay	Average C			rge
			Number of	This	All Wisconsin	Dette	This		sconsin	Defin
APR-DRG # and Des	1		Discharges	Facility	LTAC	Ratio	Facility		AC	Ratio
	stem DX w/ Vent Suppo	ort 96+ Hrs	39	63.1	41.4	1.52	\$190,210		3,742	0.85
133 Respiratory fail			39	40.0	25.1	1.59	\$143,557		3,096	1.08
	ute Endocarditis		*	*	24.6	*	*		2,362	*
•	and Infectious Arthritis		17	55.4	31.9	1.74	\$147,165		5,089	1.09
	Of Orthopedic Device C	Or Procedure	*	*	26.8	*	*		2,531	*
380 Skin Ulcers			9	70.1	31.7	2.21	\$235,107		5,597	1.51
	er skin infections		7	54.4	22.8	2.39	\$154,312		6,425	1.60
469 Acute Kidney I	njury		0	N/A	30.8	N/A	*	\$162	2,068	N/A
	· · ·				00 4	-	1	* 1 •	~ = + ~	

38.1

32.0

29.2

23.0

51.4

*

*

*

1.27

N/A

*

*

*

*

\$97,701

\$166,549

\$133,290

\$177,414

\$91,730

\$315,974

*

*

1.07

N/A

*

*

*

29.3

N/A

862 Other Factors Influencing Health Status951 Moderately Extensive Procedure Unrelated to Diagnosis

721 Postoperative and Post-Traumatic Infections

N/A - Zero Discharges reported

720 Blood Infection/Septicemia

813 Complications Of Treatment

0
* 1 through 4 Discharges reported

35

*

*

*

190 Select Specialty Hospital - Milwaukee - West Allis

8901 W Lincoln Ave, 6th Floor

West Allis, WI 53227

414-328-7700

Overall Hospital Utilization Total Discharges: Average Length of Stay (days): 33.0 309 Total Patient Days: 10,208 Average Charge per Discharge: \$187,250 **Psychiatric Utilization** Discharges: Percent of All Discharges: 0.0% 0 Patient Days: Percent of All Patient Days: 0 0.0% **AODA Utilization** Discharges: Percent of All Discharges: 0 0.0% Patient Days: 0 Percent of All Patient Days: 0.0% Age Distribution **Sex Distribution** % Discharges % Patient Days % Discharges Age Group Sex % Patient Days Under 15 Male 0.0% 0.0% 50.5% 51.2% 15 - 19 0.3% 0.5% Female 49.5% 48.8% 20 - 24 0.6% 0.3% **Expected Pay Source Distribution** 25 - 34 3.6% 3.4% 35 - 44 4.9% 3.8% Primary Payer % Discharges 45 - 54 11.3% 12.3% Medicare 63.1% 55 - 64 29.1% 32.4% Medicaid/BadgerCare 12.6% 29.1% 28.9% 65 - 74 Other Government 0.3% 75 - 84 Commercial or Private Insurance 16.2% 14.3% 20.7% 85 & Over 4.9% 4.0% Self-Pav 0.0%

Patient Discharge Status Discharge Status % Discharges Home or Self-Care 7.1% Other GMS Hospital 6.5% Critical Access Hospital (CAH) 0.0% Skilled Nursing Facility 42.7% Intermediate Care Facility 0.0% Inpatient Rehabilitation Facility 9.4% Hospice 1.3% Other Institution 0.0% Home Health Service 16.5% Left Against Medical Advice 1.3% Expired 13.3% Discharge/Tran to Court/Law Enforcmnt 0.3% Other 1.6% **Race Distribution** Race % Discharges % Patient Days

Race	/0 Discharges	70 T atient Days
Amer.Ind/Alaskan Native	0.0%	0.0%
Asian	1.0%	1.4%
Black/African Amer.	22.0%	23.3%
Native Hawaii/Pac.Isl.	0.0%	0.0%
White	68.0%	66.2%
Multiracial	0.0%	0.0%
Declined	5.5%	4.6%
Unavailable	3.6%	4.5%

APR-DRG Specific Data

3.2%

		A	verage Length of St	tay	Average Charge per Discharge			
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin LTAC	Ratio	This Facility	All Wisconsin LTAC	Ratio	
130 Respiratory System DX w/ Vent Support 96+ Hrs	90	39.4	41.4	0.95	\$251,238	\$223,742	1.12	
133 Respiratory failure	48	26.0	25.1	1.04	\$133,364	\$133,096	1.00	
193 Acute & Subacute Endocarditis	*	*	24.6	*	*	\$132,362	*	
344 Osteomyelitis and Infectious Arthritis	20	32.4	31.9	1.02	\$149,141	\$135,089	1.10	
349 Complications Of Orthopedic Device Or Procedure	9	28.0	26.8	1.04	\$131,684	\$142,531	0.92	
380 Skin Ulcers	8	23.0	31.7	0.73	\$133,552	\$155,597	0.86	
383 Cellulitis & other skin infections	*	*	22.8	*	*	\$96,425	*	
469 Acute Kidney Injury	12	36.5	30.8	1.19	\$180,083	\$162,068	1.11	
720 Blood Infection/Septicemia	*	*	38.1	*	*	\$166,549	*	
721 Postoperative and Post-Traumatic Infections	9	29.7	32.0	0.93	\$137,476	\$133,290	1.03	
813 Complications Of Treatment	8	28.4	29.2	0.97	\$163,776	\$177,414	0.92	
862 Other Factors Influencing Health Status	8	19.4	23.0	0.84	\$70,907	\$91,730	0.77	
951 Moderately Extensive Procedure Unrelated to Diagnosis	11	66.4	51.4	1.29	\$349,157	\$315,974	1.11	

N/A - Zero Discharges reported

* 1 through 4 Discharges reported

Other or Unknown Insurance

Hospital Type: LTAC

County: Milwaukee

Analysis Area: 2B-Milwaukee County